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(PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.
31- In some language institutes, learners are expected ... Farsi in classrooms.

1) don’t speak 2) not speaking

3) to not speak 4) not to speak
32- I think ... a good job is extremely important for young people in the society.

1) get 2) got

3) have gotten 4) getting

33- The president giving a speech for a group of university students on the Student’s Day said that we
can solve our domestic problems on our own and foreign countries don’t have to be ... about them.
1) natural 2) addicted

3) worried 4) cultural

34- Minister Of Health believes that the ... number of coronavirus patients is less than what the social
media claims.
1) actual 2) harmful
3) preventive 4) rare

35- Itis said that the reduction of nuclear defenses can cause an increase in the ... of a nuclear war in
the future.
1) habit 2) communication

3) identity 4) possibility
PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

The ability of tiny computing devices to control complex operations has changed the way many tasks
are performed, ranging from ...(36)... research to producing consumer products. Tiny “computers on
a chip” are used in medical equipment, home appliances, cars and toys. Today, computers are no
longer a luxury but a ...(37)... in the business world. ...(38)... we go, we find some forms of
computer, and behind each computer we find what is known in the computer world as a user. In
...(39)... the world of users, what becomes clear is that no two users are ...(40)... in troubleshooting a
computer problem.

36- 1) attractive 2) dangerous 3) scientific 4) exciting
37- 1) necessity 2) event 3) hobby 4) mistake
38- 1) Later 2) Everywhere 3) After a while 4) Soon
39- 1) observed 2) to observe 3) observing 4) observes
40- 1) surprised 2) honest 3) famous 4) similar
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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet.

PART A: Grammar and Vocabulary ’

141-A: I don’t know where I have lost my driving licence.
B: Don’t worry, I’m sure you ... it soon.

1) will find 2) are going to find 3) should find 4) have found
142-The number of people at the meeting ... last week.
1) are larger than 2) is larger than
3) are larger than that of 4) is larger than that of
143-1t’s the teacher’s duty to train the students in a way that they can be able to ... their views and interests.
1) defend 2) contrast 3) surf 4) donate
144- Policy makers in education should design programs that ... students’ sense of responsibility.
1) collect 2) invent 3) locate 4) develop

145-1 was put in an emergency situation to make a wise decision. Sadly, a lot of ... raced through my mind, and
I couldn’t come up with a reasonable one.
1) emotions 2) actions 3) knowledge 4) thoughts

146- A new research shows that group work helps children learn to share things and ... to each other.
1) express 2) relate 3) notice 4) behave

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Passage 1

There aregseveral reasons why women have a harder time losing weight than men. Some of these reasons
are purely physical. A 275-pound person walking at two miles per hour burns 6.4 calories per minute,
while a 150-pound person walking at the same speed burns only 3.5 calories per minute. Thus, men,
being generally heavier, to begin with, can lose weight faster through exercise than women can. What’s
more, even if they were the same weight, a man would still burn more calories than a woman doing the
same amount of exercise. Why? Because a man’s body has a higher ratio of muscle to fat than a
woman’s, and it takes more energy to push muscle around than fat. This may sound unlikely, but take
my word for it! The more energy you use, the more calories you burn. So, a dieting exercising man sees
results a lot sooner than a woman, considers his weight-reduction program more successful, and is more
likely to stick with it. Men are also more likely to add extra exercise to a weight-loss program. Most
weight-conscious men can be found working off those extra pounds in gyms and swimming pools,
while women are likely to head for a more passive program in a diet clinic or at home.

147-The best title for this passage would be ... .

1) Reasons for Losing Weight 2) Calories and Weight
3) Exercise for Faster Weight Loss 4) Losing Weight
148- According to the techniques of paragraph writing, the function of this paragraph is ... .
1) objection 2) showing by examples
3) comparing 4) emphasizing

149- According to the passage, a 188-pound person walking at two miles per hour would burn ... calories per
minute than a 150-pound person doing the exact thing.
1) less 2) the same 3) half of 4) more

150-Which of the following can be concluded from the passage?
1) A man and a woman of the same weight would lose the same amount of weight through exercise.
2) It takes more effort to move fat compared to muscles.
3) The more energy you use, the more weight you lose.
4) A heavier person can lose weight slower than a lighter person.
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